SOLVING DIFFERENTIAL EQUATIONS OF THE FORM dy/dx = f(x)

1 Write the general solution of the following differential equations.
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SOLVING DIFFERENTIAL EQUATIONS OF THE FORM dy7dx = f(x)

1 Write the general solution of the following differential equations.
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SOLVING DIFFERENTIAL EQUATIONS OF THE FORM dy/dx = f(x)

2 Find the particular solution of the following differential equations.
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SOLVING DIFFERENTIAL EQUATIONS OF THE FORM dy/dx = f(x)

3 Find the particular solution of the following differential equations.
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SOLVING DIFFERENTIAL EQUATIONS OF THE FORM dy/dx = f(x)

5 (a) Show that %(xe’) =e" +xe”. (b) Hence find _[ xe” dx.
dy

(c) Find the particular solution of the differential equation 4= xe*, given y(0) ==1.
(d) Find the particular solution of the differential equation % =xe" — e”, given y(0) = -2

(e) Hence find the particular solution for the second-order differential equation -3%— = xe*, given that % =]

and y = =2 where x=0.
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SOLVING DIFFERENTIAL EQUATIONS OF THE FORM dy/dx = f(x)

7 (a) Showlhat——(x+xtan x——log, x +1)) tan”' x + 1.

(b) Using (), find the particular solution of the differential equation % =tan”' x+1if (0) = 0.
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SOLVING DIFFERENTIAL EQUATIONS OF THE FORM dy/dx = f{(x)

d
8 (a) If E’V = %(e’ -e” ) with initial condition y(0) = 1, find y.
2

d” -x
(c) Hence show that ifﬁ = j.l,_'(e’r —-e ) with (0)=0and y(0)=1, then y = %—(e‘ - e“) is a particular

{b) lf% = l(e" +e " ) with initial condition z(0) =0, find z.

; soluuorffmjlmuation; . i M ) _L 4 e—-?j +C
)/%(@‘ e )M_ZL[/(F, e™) J 2[6 +

it
j{o):‘zt[eweqj 4L = T4 y (i):f[ W
Mo pofulen ol o 6= LT + €]
Notg : Han Em.h‘ﬂk Cj[x)=_e:i§_‘l el F&@O&L i

AD ek () - i

Y

I z ) = T 6“1 L Mowed \\LJPELGBQCC m'i aced sl (O
~ = , /
NOTE fot- . : [@R)) = mafl) wd [kl = o lx) /
| ) = ko amd ':4)-_- mﬂ(x))
9 a£ 4t = inlly) , Ben B = o i:[m%)-
k) & o« rubian. To g”:(}

.', 3(1) =

Section 3 - Page 7 of 8



SOLVING DIFFERENTIAL EQUATIONS OF THE FORM dj/dx = f(x)

10 An oil tanker hits a reef and spills oil into the sea. The oil spills from the tanker at a rate of
where 1 is the number of days since the tanker first hit the reef.

lusknownthalj T dx——mm(4)+c

litres/day,
16 Y

8
(@) If Vlitres is the volume of oil spilled into the sea in the first T days, find V in terms of T.

The local newspaper report stated, ‘It is expected that eventually 300 000 litres of oil will spill into the sea!

(b) Determine whether the newspaper report is in agreement with the model above. T
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